ITO AEeATEJ/IbHOCTD.

b. LIOY




25 — 46 = -21
-7 + 8,03 =1,03

-9:31-4,69=10 - 3.25 - 4.75 =8
4x|-0,25|= |-0.5|X4=2
78 1213
4. =12
76 —49 1212
5.0,04%25 = 1 5. v0.25x64 =4

6 - 9,28 =-3,28 . 31-47 =-16
-2.26 - 4.74 =7 . —-3.82-5.18 =9
2.7x [-10| =27 . |-100|x0.04 =4
42x102 =1600 . 52 x 22 =100
V80 J2

5. ——=4 5. — = _
V5 JiIs 3




2x - 3)( 2x + 3)

(a - B)?

(c*-4)°

9aZ%- 6a +4

2x2-4x + 1 a2-2aB + B2

(x -2)(x?* +2x +4)

(x-1)*




Tema ypoka:

«CpaBHeHMe yuncerl.
HUucnosBblie




HepaBeHCTBO — 3anNucCb, B
KOTOpPOU ABa arireopan4vyeckKkux
BblpaXXeHn coeAnHEeHbI
OOAHUM U3 3HAKOB
HepaBeHCTBaA.

A< B, A>B,
A< B, A=B



- 43,5 -140 2,716 2,72
-35,86 - 35,68 3804 3,789
-143,5 -140 10,625 11,625
-12,8 -13% 0,002 0,0002




Unucno a 6onblue uucna B,

€CJIM Pa3HOCTb @ — B - NOJIOXXUTEJIbHOE YUCNO;
4YMCJ1I0 @ MEeHbllue Yyucna B,

€CJI1M Pa3HOCTb @ — B — oTpMUaTesibHOe 4YMnCo.

A3HOCTDb YHUCeJl

CooTHOILICHHUE

MERKTY
0 (W B0




[loMmallHee 3aaaHue:

n.27,N%711, 716, 688




